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ENGLISH.

Read the following passage and answer questions 1-5:
Many young people know that conservation is
necessary. Boy scouts in many countries study man
and nature. These ‘conservation volunteers’ spend
their spare time planting trees, building bridges, and
so on. Some girls in a town in United States cleaned
the banks of their river, and a group of boys in a
village in Bangladesh mended a wooden bridge on a
canal and cleaned the canal of debris. Actors;
singers and writers in many countries have spoken
about conservation. The popular English rock band,
the Beatles and the singer Cliff Richard, have made
records on conservation. The money from the sale
of the records has helped conserve wild animals.
1. Choose the appropriate title for the passage

above:

A. Saving Man and Nature

B. Man and Animals

C. Conservation Volunteers

D. Cleaning River Banks and Canals

E. Singers. Writers and Actors
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2. What do Boy Scouts pursue?.
A. They look after animals
B. They study man and nature
C. They mend bridges on canals
D. They plant trees
E. They clear river banks.

3. What is common between the girls in United
States and the boys in Bangladesh?

A. They live in two different countries

B. They work at conservation full time

C. They work as cleaning experts

D. They do conservation work to pass exams
E. They do voluntary work

4. What did the Beatles and CIliff Richard

achieve?

A. They made records

B. They popularized their genre

C. They conserved nature and wild animats
D. They helped conserve wild animals

E. They made a lot of money

5. “Spare time’ means
A. Make time
C. Extra time
E. Too much time
Find the correct sentence (questions 6-7)

6. A. She had faith and hopes for the future
B. She had faith and hopes in the future.

C. She had faith and hopes in future
D. She had faith in and hopes for the future.
E. She had faith for and hopes in future.
7. A. She was interested both in plant and animals.
B. She was interested in both plants and amimals.
C. She was interestad both in plants but also in arumals.
D. She was interesting in both plants and anirnals
E. She was interested in plants, animals, both.

8. Select the pair that best expresses a relationship
similar to that expressed in the pair FISH :
SCALES
A. plane : wings B. cat : claws C. bird : feathers
D. snake : fangs E. song : notes

Fill in the blanks with appropriate words (questions 9-12):

9. Let your — be your guide.

B. Siesta time
D. Extended time

A. information B. conscience  C. data
D. hands E. legs

10. We were — friends in that strange country.
A. among B. upon C. looking
D. between E. into

11. — all his attempts to solve the problem, he
failed. '
A. After
D. Despite

B. Because C. Before

E. During

12.

13.

14.

15.

16.

L.

18.

19.

20.

My dog is smarter than —
A. their B. theirs C. your
D. her E. we

"He hardly works’. In this statement
"hardly’ means: ‘
A. very hard

D. rarely

B. rather -
'E. remarkably

C. perhaps

Find the antonym for the word
"Infatuation’:

A. Apathy B. Fascination C. Love
D. Interest E. Likeness

Which of the following word is spelt
correctly?

A. Restaurant B. Restaurent C. Resturent
D. Resorent E. Restourent

Find the synonym of the word ‘Collapse’:

A. Miracle B. Wonder C. Rise

D. Debacle E. Lapse

Choose the correct prepositions (questions
17-19)

He died — illness.

Aof Bon Cby D.with E.in

~He lives — his sister’s money
A-with B.for C.on D.from E. of
We were surprised — his failure.

A. for B.about C.at D.of E.on
What does the word 'Obese’ mean?

A Fat B. Slim C. Healthy
D. Emaciated E. Serious

Answer Keys: 1.C2B3E4DS5.C6D7B8.C9B

100A11.D12B 13D 14 A 15.A16.D 17.A18.C
19.C20.A

ACCOUNTING
ffor @ afeRm ItEmerm il Afsws T
(BFRS) fR€m@e 3t2? [Which of the following

institutions determines Bangladesh Financial
Reporting Standards (BFRS)]?
A. ICMAB B. BSEC

D. BIBM E. ICAB

G @A Rty 3T ciar Tz Tt
@:d> WIS FeH AR e 97 | IBAFS @
CIARTE T . (A company distributed free

shares among the existing shareholders at 5:1
ratio. This event will be termed as issue of:)
A. 2B =TT (Right share)

B. &= (<1717 (Bonus share)

C. Sfe@ (<1911 (Preference share)
D. ¢R =172 (Ordinary share)

E. Smer (13 (Founder’s share)

" C.BMA
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Yot w2z =2 PQS @R we,o00 TIFR 6.

T T2 o= TF | BRI T THF {000
Bree wEEs TEEN IR R @EPAR v 000
=2 55 == =64 IR | ITM 0dH BRI i
:-%a—- ¥= 80,000 BIFT TV, BT (FRI TH
TEE BT TR dAfdmd I 3ra? (At
October 1. PQS Company reported owner’s
eguity of Tk. 35,000. During October, the
omner made additional investments of Tk.
2 09 2=d the company earned net income of
Tk 6.000. If owner’s equity at October 31
otals Tk. 40,000, what amount of owner
riv--ings were made during the month?)
A 3 0(Tk. 0) B. B1: w,000 (Tk. 3,000)
C. 31 8,000 (Tk. 4,000) D. BI: ¢,000 (Tk. 5,000)
E. OI: 9,000 (Tk. 7,000)
oo HIEAR &t "EETQ T W, 000 SR gEnfe
fAen 3@ | TENST FI7AT Yo, 000 BT, FIFHIAZ
HITHFE ¢ ITN GR AITHART ST P 0,000
O B Ig@ wiER e » o dd@ies

5357 AR & = ©¢, 000 BIF | FAAAR=T

AGRETS HIT (IF A TF =i R e A
& - (On July 1, 2002, Masud sells
equipment for Tk. 22,000. The equipment
originally cost Tk. 60,000, had an estimated 5-
year life and an expected salvage value of Tk.

10,000. The accumulated depreciation account
had a balance of Tk. 35,000 on January 1, 2002,

using the straight-line method. The gain or loss

on disposal is—)

A. 7S v 000 511 (Tk. 3,000 gain.)

B. 7% {,000 51 (Tk. 2,000 gain.)

C. =f$ v,000 B (Tk. 3,000 loss.)

D. =f$ 3,000 51 (Tk. 2,000 loss.)

E. =S ¢,000 513 (Tk. 5,000 gain)

TR YOS B 3B WS qwr Mo wz
fama Affe uwe,00,000 TF @32 RfGFS ot
A ¢o,00,000 TIF| LTI UILS I (MT¥
@IMIRR offme fer IU@FE voo,000 T @
q,00,000 BT | ©F IQEX (AFWIA WITSS- (Nahar

Hardware Store had net credit sales of Tk.
6,500,000 and cost of goods sold of Tk.
5.00,000 for the year. The Accounts
Receivable balances at the beginning and end
of the vear were Tk. 600,000 and Tk. 700,000,
respectively. The receivables turnover was—)

= = T2 (7.7 times.) B. 0. 32 (10.8 times.)
C 3232 (9.3 times.) D. o 3@ (10 times)
E. 33 =2 (12 times)

Fiffe RIaMNte Fgs Diaw @ vy owsfz ==t =7
! 31 - (The information provided in the
notes that accompany financial statements is
required because of the-)

A. TITFAINST &) (cost principle.)

B. st Mifea &= (full disclosure principle.)

C. fiE=ge Sifsa &= (matching principle.)

D. 5@ ‘%ﬁ AHfSa &7 (revenue recognition principle.)
E. IFriereid & (conservatism constraints)

fater F1=fo for [R@ima =7 (Which one of

the following is the objective of Accounting?)

A. AR ERRET (Classification of transactions)

B. 3139 B3fS 96171 (To enhance business)

C. T ALIBET & (To reduce expenses)

D. 3=t s &= (To increase profit)

E. Prae azree s o) 17991z 391 (To provide

information for decision making)

ABC 3moiify XYZ I~ tF voo BIRIR

TRHEW WM W IR ABC F=eAfar e

IR I FOT AeR? (ABC  Company

purchases Tk. 600 of equipment from XYZ

Company for cash. What would be the effect on

the components of the basic accounting equation of

ABC Company?)

A. =W R W {If% (an increase in assets & liabilities)

B. 3% R WRIZRM (a decrease in assets liabilities)

C. (16 5% @ 2fdaS= TR = (no change in total assets.)

D. wIta (&= #3991 T3 71 (no change in liabilities)

E. 57m 3fa @=2 W (an increase in assets and a
decrease in liabilities.)

AN R TR IR IR GG TR |

T JIFAR, R038-F WA Ty Rffamizs 3

Ty ofame . oo Tt ¢o,000 Bt 8 Y0, 000

o1t | Te fRRaieR IRimfy st aifarw 53R

s e 5w x0 1 @ ovta o Rffamiys

YRR oAfFwet @ 3,00,000 T1T iR 5l

W Sian RS @z 8o 0% TW@

T O T T wd8 AR oyt rwz wiffr

ez YEa W FS?  (Sayem and Sabrina

are the two partners of a partnership business.
On 1st January 2014, the amounts of their
invested capital were Tk. 50,000 and Tk. 60,000
respectively. In the middle of the year, Selim
entered into the business and signed the
partnership contract by investing Tk. 1,00,000 as
capital. According to the partnership contract, the
rate of interest on the invested capital was 10%.
What will be the amount of interest on capital of
Selim at 31st December 20147?)

A. B1: v 000 (Tk. 3,000) B. 51: 8,000 (Tk. 4,000)
C. Bf: ¢,000 (Tk. 5,000) D. Bt 0,000 (Tk. 10.000)
E. Bt: 3,000 (Tk. 2,000)
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10. TWMIRE 9 COIRT YRET TgUNR (&R d¢,oco 13. AEa @B Gwms TfFFW I9E goffs =@
I | T% RARIITE &F vo,000 GIF, T (TIIAS |t? (Which of the following transactions would
J,000 DI 8 WEARIZT I ¢,000 TIFT not affect owners’ equity?)
fEoTRIE (AT FIFIR °1F (A I do,000 BIFR ety A. Rfes sty I fRadad (Recording cost of
QIT8 TS Wite | RGgrasy g yEy A goods sold) -

Za: (Leatherex Shoe Store has a beginning B. 7w & fi*R%@39 (Recording a cash sale)
merchandise inventory of Tk. 15,000. During the C. 4t faer ferfeamd2et (Recording a sale on account)
period, purchases were Tk. 60,000; purchase D. &0 1w Fforrmaae (Recording utilities expense)
returns, Tk. 2,000; and freight-in Tk. 5,000. A E. 95tw Sgwss & (Purchasing inventory for cash)
physical count of inventory at the end of the 14, wfazg TgRaA] AGfere q3fs RFaaR @Fronfars
period revealed that Tk. .10,000 was still on 53 @19 ReMR 41E? (Which of the following
hand. The cost of goods available for sale was:) .

A. 3R 43,000 (Tk. 72,000) accounts appears in the ledger of a

’ ’ ’ merchandising company that uses a perpetual
B. Bt bbr,000 (Tk. 68,000) inventory system?)

C. B ab- 000 (Tk. 78,000) A. 3% (Purchase)
D. 513 3,000 (Tk. 82,000) B. @& *7=72 3@ (Cost of goods sold)
E. 5131 50,000 (Tk. 90,000) C. =% 33z (Freight-1n)
11. @36 &3 T NI IF IEFE ke < D. &% TF (Purchase discount)

AfRTnfes ATy 88y By fg o= In= 53 E. #3%3 8= T (Beginning inventory)
8r8 I fafoe 3@ T wwvy Rz v 15, &= STAT 7= o7 IR T4y 3Ih
fatmr R Jf6F? (If a check correctly written ~  ¥®==7 3FT FTER T6 (LN IR AGAS (W7
and paid by the bank for Tk. 448 is incorrectly (Which concept or convention allows the
recorded on the company’s books for Tk 484, the accountant to expense a pen-stand with a ten
appropriate treatment on the bank reconciliation years life?)
would be to:) ' A IVI €13 (Materiality)
A. T[T (GEI A 0L 7F @Y I (add Tk 36 B. =< R (Going concern)

to the bank’s balance) C. fx=earme! (Reliability)
B. ¥R (G337 7 oL 5/&F T 3T (add Tk 36 D. =¥ =% (Business Entity)

to the book’s balance) E. #3™=1S (Disclosure)
C. 7T (OF (AT 0y o RE@A™ ¥& (deduct Tk 16. 5= == TR wrET W 77? (Which one of

36 from the bank’s balance). | the following is not a capital expenditure?)
D. 5mE @9 T 88y W REam F31 1 (deduct A w5eR*& & (Purchase of furniture)

Tk. 448 from the book ?;alance) B. ¥ @7 (Purchase of land)
E. W84 f aﬁahcwgas Zs ?aln a)ﬁﬁ 3| (deduct Tk. C. 3125 W ¥ (Copyright)

rom the book’s balance | o
D. s=9fga a8 (Depreciation of fixed
12. <= BN W bo,000 B Fiew ST T 31| & i (Dep
oA WG IR IRF ¢,000 BRA AR WA assets)
: ) o ﬁﬁm - Cﬂ;‘ A E. (53 1f% @ (Purchase of motor vehicle)
= ‘&7{ ' S | | 17, Rorwes oo enfiter s @t oig?
R & AN AF5 T4 9,000 BIF | FAYE NS HFIIA, , ,
= fft @ T TE: (A compan (Which of the following errors can be detected

2 LY ' : pany by trial balance?)
purchased land for Tk.80,000 cash. Real estate A. @ I SIEWISS 31 T (A transaction
brokers’ commission was Tk. 5,000 and Tk. o . . "

7,000 was spent for demolishing an old buildin LETL e )

’ P " " B. @B sicawi widen q2am «feamm (oifoe o
on the land before construction of a new , . .
building could start. Under the cost principle, TR (A journal SR that is posted tv.wce)
the cost of land would be recorded:) C. = fefstasard sifdsgae e (Offsetting
A Bt 9,000 (Tk. 87,000) B. B! bo,000 (Tk. 80,000) errors are made in recording the transaction)
C. Bt b¢ 000 (Tk. 85.000) D. B1: 3,000 (Tk. 92,000) D. i"m= g=sted 991 (A transposition error)

E. 31: 3,00,000 (Tk. 1,00,000) E. (R® ¥4 (Error of commission)
vo i
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(Which of the following is the correct

sequence of steps in the recording process?)
A. Temee wizea, ey (Posting,

umalEmne analyzing)
B. m T, AT (Joumallzmg,

amalvzmg, posting)
C S w=92339, SV (Analyzing,

possme. journalizing)-
D. Spwes_ STIWI39, ZINEIA9 (Analyzing,

; gy -
E w2, ZIAeISad, [Jrasd (Jounalizing,

posting, analyzing)

19. Sor AT @ WG SRETR TefE e

mwsFS I 6¥G(? (Which of the following

is bess important as a measure of short-term
idi

A ofTs W@"l% (Quick or Acid Test ratio)

B. 55f$ Sq°ire (Current ratio)

C. a1% S991$ (Debt ratio)

D. vafe Fders it ™ &A1z (Cash flow from
operating activities)

E. (AWIT =9 S9ATS (Receivable turnover ratio)
@ AfSBI Testifre oitt;z ST TgW dooo
qGITF, AN TGA boo «FF X RFT WLRoo
9% | W TeAMA JW vo,000 BRI TA, S
Bedfifis otia @3 AfS g IS? (In an

organization, opening stock of goods produced
was 1000 units, closing stock was 800 units and
sales was 6,200 units. If the cost of production was

Tk. 30,000 what will be the per unit cost of

production?)

A.O: 8 (Tk.4) B. o ¢ (Tk.5)
D.%: a(Tk.7) E.®: v (Tk. 8)
Answer Keys: 1.E2.B3B4B5D 6B 7.E8C9.C

10.C 11.B 12.D 13.E 14.B 15.A 16.D 17.D 18.D
19.C 20.B

PRINCIPLES OF BUSINESS

MANAGEMENT

TN AfGFATM  AIBW  A[E GRAIRT

=67 (Which one is the best sequence of the

~ process of management?)

A ARSEA-AANS-TOg-AFE (Planning-

Organizing-Leading-Controlling)

B. ~Regal-Egd-s1e7-"ey (Planning-
Controlling- Organizing-I.eading)

C *RIga-@eQ-Mersa-AFgd (Planning-
Leading- Organizing-Controlling)

D Sxwe-7107-Reew1-ge (Controlling-
Mng -Planning-Leading)

E »v3= Fage-@og-=fiag=r (Organizing-
Cantrolling-Leading-Planning)

C. ol & (Tk. 6)

2.
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18. fAoez

930 AfSBIRT FATT o=@ Gyf == ==1. (The

- most important asset of an organization is:)

A.9¥ (Money)  B. &ifs (Machinery)

C. &f¥ (Land) D. w%! (Efficiency)

E. 9193 77w (Human Resources)

SNZTSE PIRGT =N o1Tx i5a ot TS
= F17? (Which of the following statements is

incorrect in the context of a private limited
company?

AL a @i e e AR T [R33e Aa 3

I wAFA @2 (There is no need to issue
prospectus for selling its shares)
B. @ @i ¢t TBIOER ¢F@ @l I ey =2

(There is no restriction on the transferability of its
shares)

C. @ @~iffz forrea afys Fdws sgs ama
FAA (@R APl (FR (There is 1o

compulsion for its accounts to be audited by
an extemal auditor)

D. 545 W'ow SMOUE ANIAT @ @R o3| 91 7w

(It can be formed by a minimum of two
members)

E. « @i sforeme oow a2oit RSS! (R
(There is no obligation on its directors for
retirement) .

LR 8 F-AIRRER BIAET (FTa AEH TR

T TR IYSHTY <! | (The maximum
number of partners in a banking and a non-
banking business are — and — respectively.)

A. Yo, 3¢ (10, 15) B. ¢, 20 (15, 20)

C. Y0, 20(10, 20) D. 20, wo (20, 30)

E. 20, ¢o (20, 50)

FIFAR (I TR RAABS THS! (I TG

(At which levels of management conceptual

skills are mostly required?)

A. g (First line) B. ¥% ¥ (Top level)

C. 77 &7 (Mid level) D. 53 &7 (All levels)

E. S%-u45 %9 (Upper-mid level) |

a5 e Pfide @rnfa cvta 3t5TE 9Ty
f wferer zo1: (The most important document of a
public limited company is:)

A. f@a« 7@ (Prospectus)

B. ifatwa fAawieat (Articles of Association)

C. s fR@aM (Anuual Report)

D. #fdt#3% (Memorandum of Association)

E. 31383 Sufs 1@ (Certificated of
Commencement)

T w-wifrg Rasar Qs R swart

FAT I *gw~1n 1wt B5S? (In consideration

of the owner’s liability, which of the following

businesses should be the least preferred?)

A. @33 TifF=F1# ST (Sole Proprietorship)

B. 3tefee AR T AR F19A1 (Partnership
for a banking business)

-~
-

¥
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C. - FIAT &) WA IR
(Partnership for a non-bariking business)

D. #13ret fNiee @renfa (Private limited
Company)

E. #rafers fmfacee @r==nfa (Public limited

13.

EEiR fRSome i@ 2d$F &@? (Who is the
proponent of two-factor theory of motivation?)

A. TIFEEAT (Maslow) B. &3 (Hertzberg)

C. WA (McGregor) D. ¥ (Thomas)

E. (z=f? #7198 (Henri Fayol)

¢mpany) 14. Wi e «fsemn fefiohe Brr e @
8. RRiww e ey =@ 97 CF¥L4 | (The @MG? (Which one acts as the guideline of
statutory meeting is applicable to a ) partnership business?) '
A. 933 TfFFFIFT F1FAR (Sole proprietorship A. s@=ifss 9 (Mutual Trust)
business) B. pf&=@ (Contract)
B. ‘\';II-)?UR%: ?ﬁﬂfima G iﬁsa bi ERIL ) C. swma @et (Qualification of partners)
artnership for a non-banking business D. 55 (Good relations
C. 1fF TJIAEI & LTI S92 (Partnership e : ] : )
¢ . . E. srsfa@t (Sincerity)
or a banking business) & L ) ]
D. @375 FRTES @I (Private limited 15. =ifas ; 7S IATS I (Technical skills mean:)
company) | A. I AFS TWIF (Task related knowledge)
E. =irafers s =M (Public limited company) B. ﬂmﬁﬁa_‘ Gl (Social knowledge)
9., WM AfAS WA, d5b8 WTAR (I FANIW C. fo=s =7l (Thinking ability)
Ffafer qzem W AfAfex @6 Torvwz e o D. ar@af$= @ (A Political knowledge)
ASILt {IR FACS  AA?  (According to the E. wf& @1 (Financial knowledge)
Cooperative Society Ordinance, 1984, what 16. ] HSrew AR G FAATF I T Ao
percentage of the total capital of the society can TS TA? (Which one of the following requires
a member hold?) at least 2 directors?)
A. ¢% (5%) B.3>% (10%) C. 3% (15%) A. Far Afafs (Cooperative society)
D. 0% (20%) E. 2¢% (25%) B. wi(iwifd F19a1@ (Partnership business)

10. fAtsa R =4 «=t? (Which of the C. &13reb . @3 (Private Ltd company)
following is a clause of the Memorandum of D. sirfe= fo. @r=#fS (Public Ltd company)
::ssoclatlon?) R (Lisbili | " E. a3f&s_1 319219 (Sole proprietorship business)
/ h-ﬁ::gﬁ:)’“ G wr-irne (Liability of (g 17. SOFICSINE M AE TH (TS (I I
B. #faseama wwet (Powers of the directors) W@"l - .Ch.Of tPe follo or.gan.lzatlon

| , is suitable for eliminating the exploitation by
C. (IRAITIAMT 7o (Meetings of the middlemen?)
shareholders) | A. g (Sole ' '
: proprietorship)
D. iR @ A3 (Accounts and audit) B. SR (Partnership)
E. s=1%t %7 (Distribution of profits) C. &35 1. =N (Private Ltd company)
11. «few T@‘ Fr.-az “"f‘;“""" ;”‘k‘: ;(Th)e D. *irff@ . @t=if¥ (Public Ltd company)
ownership pattern of Exim Bank Ltd. is: E. stwatg s (Coo : :
. . : : perative society)
s .
g RS :25: Sl (};:Jl?teu;‘fe‘fd SS i) 18. TTSTH AN WA HStI (@AB? (Which one
C. )l T ( ; tted company) is the oldest form of business organization?)
TP TSI (State Owned) A. @FfAF141 (Sole proprietorship)
D. wewifd F17A7 (Partnership) B. WA (Partnership)
E. st sfafs (Cooperative Society) C. @ TFg (&=AfR (Joint Stock Company)
12. e R WWT@I’. T q‘@'@' R=gfo zn':mi D. s3mn Afafs (Cooperative society)
AT T F : (Choosing the best course of action E. 381 13317 (State owned enterprises)
K"mﬁ a}“"“ngdi‘g‘c’:ie:;)a“er natives is called:) 19. 78w TR wE @ 37 F@W? (Who bears the
B. S " o . losses of the state owned enterprises?)
o @&I‘Q (DC/CISIOH makmg). . A. TIFPAFN9 (Managers) B. FIFI9 (Governmen:
C. iy ﬁcm (Consyltative direction) C. sfast@@ae (Directors) D. &1zt (Clients)
D. Stah (Objective) - E. sfgsamie (Officers)
E. Sifs Adtaa (Policy formulation) |
b
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20.

R

[h

3 ormre S5 N WEE GI6E (SISt )
gTEs (oa2 &% R A [Ew IR? (In
which of the following models of e-business a
consumer dJdirectly sells goods to another
consumer’ )

A CZB B. C2C
D. B2C E. B2G

Amcwey Eeys: 1. A2 E3B4C5B6.D7A8E9D
124 118B12B 13B 14B 15.A 16.C17.E 18.A

iISB XB

C.B2B

FINANCE

Haow do the interest rate and bond prices change?
== T2 ¢ TSR AR W o +AfRfes zw?)

& m the same direction B. in opposite directions
C_ without any relationship with each othér

D. positively

E. sometimes 1s the same and sometimes in the
negative direction

In which year the Financial Institutions Act was
passed? (T afSBin WZR TS A o417 T
@)

A.1994 B. 1993 C.1991 D. 2002 E. 2010

Which institution issues treasury bill? (¢3S
af e e Guifz = wee?)

A. central bank B. Ministry of Finance

C. listed company  D. private commercial banks
E. specialized financial institutions

What interest rate doubles Tk. 500 in 9 years
according to Rule 72? (2-Rf¢ @il ¢oo 51t &
TR flod ZCS T AR TS ST ZTS TR?)

A. 8% B.9% C.10% D.11% E.12%
The market where new securities are bought and
sold for the first time is called market. (¥
TG ToF AR RreR 3w F/Rew = =
T I — TEHR)

A. primary B. secondary
D. capital E. treasury
Which one is not the source of long-term '
financing? (3 NI AR BT ][
A_debenture B.share C.bond
D. commercial paper E. treasury bill
Which investment is the most risky? (1=
st Fae @aft Y. |

% bank deposit B. bond purchase

__ purchase of preference share
ourchase of government bond
= purchase of ordinary share

What does BSEC stand for? (BSEC J7TS & @RIT?)

% Secunties and Exchange Commission

B_ Baneladesh Security and Exchange Commission
C_ Bansciadesh Secunities and Exchange Commission
D. Baneladesh Securities and Exchanges Commission
E. Bangtadesh Secunty and Exchanges Commission

C. tertiary

")

{

9.

10.

11.

12.

13.

14.

15.

16.

-

Which one is the non-discounted capital
budgeting technique? (TF JICEHL-X IHRE=
TR 2R @A6?)

A. payback period

C. internal rate of return
E. profitability index

Which one should be greater that the cost of
capital to accept a proposal for investment?
(Rfae w1 36 d3w a3 3:Te 7= Fooe
TN AT T3 weorwt afa xee z37?)

A. ARR B. NPV C. IRR

D. payback period E. profitability index

B. net present value
D. capital rationing

Which one is the least liquid current asset of a
company? (CF=HMRA FIBE I A 7= (FH10?)
A. cash B. bank balance C. prepaid expenses
D. A/C receivables

Which of the following components of capital
has the highest cost? (fRTs3 To4w Tommefom

@57 I AT ’FM?)

A. ordinary equity B. preferred share C. debenture
D. retained earnings E. profit

E. inventory

Which of the following is not unsecured short-
term credit? (Fva T wAfFrs Fgam #d
_N7)

A. line of credit

C. transaction loan
E. bank loan

Which type of annuity requires payment of
installment money at the beginning of each
installment period? (&N AT WIRH X7 =t
(Retgm AfS IR wETS W AR fAfve
IA?)

A. ordinary annuity

C. annuity compounded

E. perpetuity ,
Which type of risk is avoidable through proper
diversification? (IUAL RfbFATHTIR T &N
A7 T afSrn Tt e?)

A. portfolio risk

C. unsystematic risk
E. financial risk

B. revolving credit
D. floating lien

B. annuity due
D. effective annuity

B. systematic risk
D. total risk

What does the discounting process mean?
(For=tefBe afsam wd :7)

A. awarding concessions

B. taking less money

C. 1gnoring importance

D. converting future value into present value
E. converting present value into future value
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-17. Which one is considered the ideal current ratio? 4. WG WD QT AIeENE TRIRFTE RefeTar=
(AR @ W 5a1fS wgets e Rwfts?) ©AMIN? (Which of the following is not an
A.10% B.15% C.1:1 D.2:1 E.3: element of psychographic segmentation?)

18. What does the BSEC regulate? (BSEC s foarae A. Ife G (social class) B. ST (lifestyle)
*@7) C. ¢or1 (occupation) D. 35f&9 (personality)
A. bond market B. share market C. money market E. SR (interest) |
D. secured exchange E. financial Zlnarket 5. fom @Rl coret I Refewmm fofe 7w7
0 . | (Which of the following is not a basis for
19. Which one is not an external source of consumer market segmentation?)
financing? ((FRG IR IfP= T 717?) A. ST (geographic)
A. retained eamings B. share capital C. bank loan B. Aot &< (operational)
~ D. trade credit E. share premium - C. eyl f¥9@ (demographic)
2_0. To whom the bonus shares are distributed? D. SS1ReF (psychographic)
. (RFH N FITWS TYT IBF IAT TH?) E.. N (béhavioral)
§ s e WU, oo e et B e e o
E. employees | TAgE? | (thflen is the :)rodu:;ion concept
Answer Keys: 1B 2B3.A4A5A6D7.E8.C9.A APPTOPTI? g |- 1O Use:
SN i L G G e A. TR 4GS S (If the product is unsought)
10.A 20.A | B. X9 qI9RIRE AN S@w 4TS (When
: continuous product improvements are needed).
MARKETING .C. W "T’-‘BEFH w@ﬁgﬁ qR AT am?cvs
1. IS AROR & @F I G M G TesimaTel AGIA SREW (When the product
415w 3217 AfRFAIE 91 TH : (The process of cost 1s too .hig}l and improved productivity is
selecting one or more market segments to enter needed o bring it 40wn)
s called:) D. TR #7142, 743912 5ifEwl (¥t (@ (When the
A. SIS SIS (market targeting) supply of Product exceeds demand). |
. E. 3= A41f6 impulse 7447 (If the product is an
B. % ©futa# (market .dqrtx}i%gpce) | impulse good).
C. =6 1% (market research) 7. T IO wwRR ot 93 [RWB sretym F©61

. . D. 76 “fe=faz (market positioning) 7t T3 O fA{t I3 I OIE I (When an
E. SIt#6 @It = (market segmentation) import.ing'country sets limit§ on the amount of

s R 9 ?F"Q‘ WO W, WS igto;;dcsa ::e‘glzl‘l:;nccept of a certain product category
aTF g el fara offés @' (Which of the A. (3151 (quota)  B. 4t (barrier) C. ©% (tariff)
following consists of a group of customers who D. 937314 (embargo) E. 37 (bar)
share a similar set of needs and wants?) 8. IREISFATIR WIYAT ToAW @HHG? (Which
A. Tg¥ 9147 353l (vertical marketing system) one is the latest concept of marketing?)

B. 9Iw7 AtF0 (market basket) A. T&AMA TeqW (production concept)

C. qre o139 (market share) B. 97 T931% (product concept)

D. &7 GrTI$ (market segments) C. fa@ra 7% (selling concept)

E. ateia ¥4 (market level) D. IHmISeII9 T93WM (marketing concept)

3.  AGEARICIACIR I SR 57 (What is the main D T 7O JSMESIOP TSI (holistic marketing concept)
objective of marketing?) 9. SRITIETACT A Cfﬁ «m Tzt 3B w0
A. SAIF! S 4 (to eam profif) xH? (Whnc.h type of ughty is created by

) warehousing?)
B. GemorR! o1t <41 1 (o satisfy customer demand) A. F9S BATAM (place utility)
C. 24 BeAM= 41 (to produce product) B. Sae® $9Ta (time utility)
D. @y %7 341 (to distribute product) C. GTRMS ATt (service utility)
E. corore SR R 3t 1w S8 F41 (to eamn D. =grs 8o (possession utility)
profit by ensuring customer satisfaction) E. sesrs ©sitar (form utility)
b8
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10. T (AT WFTRYE (ST CFE [T | @ 15, R @R IwmReeEad @t e aa

11.

12.

13.

14.

AT %B =T T? (Which type of utility is
created by preducing furniture from wood?)
A. F>== T=r== (form utility)
B. === === (ume utility)
C_ w=r= 2T (place utility)
D w==a& B (possession utility)
E_ === 2974 (service utility)
W e (319 (AT *I97? (What type of product
are magazines?)
A @SR 747 (impulse goods)
B. 313 9 (staple goods)
C. (51! A9 (consumer goods)
D. faf#® @4y (specialty goods)
E. Afegt #i47 (convenience goods)
o R IEEmeTAT AZXAE FE? (Which

ones of the following is a facilitating function of
marketing?)

A. (ATGAFA4 (packaging)

B. @WI&©F99 (warehousing)

C. = fadiaet 8 @fieadaet (standardizing and grading)
D. fa@¥ (selling)

E. #f%<22 (transporting)

@ STPT QR RFT ¢ GT AT A
I NGZ IR TG A [y I OIE
3@: (The promotional strategy that calls for

using the sales force and trade promotion to
move the product through channels is

- called:)

A. Z=S (@A (place strategy)

B. o= (&= (push strategy)

C. 7= &= (pull strategy)

D. f®2 @& (blocking strategy)

E. suf¥s @4 (integrated strategy)

»5.5¢ f& €377 7777 (What type of pricing is
99.957)

A. STIAIE 577 (promotional pricing)

B. ¥=31f® 3517 (psychological pricing)

C. G179 T (segment pricing)

16.

17.

18.

19.

20.

ATt @O’ Yo R4 T sr =

FAW A FAIBRCS IEFA? (Which of the

following marketing communications tool. is
most effective at influencing customers at the
conviction stage of buyer readiness?)

A. fI®a1°¥ (advertising)
B. ar=f&f 0 (publicity)

C. (o131 QTarA (sales promotion)‘
D. 3f&$= A& (personal selling)

E. 3559 @& qIiReaws™ (events and experiences)

I @36 Tow Ay gferariia s o ore, TR
8 B M= cdte T 33, Sz 3R A Tor
TY: (If a new product is better than the same

product of competitive firms in terms of quality.
features, and value in use then it is called:)

A. TFS A9 (quality product)

B. wfedty 8% 4 (unique superior product)

C. +fE&m9% #i<y (positioned product)

D. *t4 57 341 A< (pre-launched product)

E. f&fSi@ms 94e5 (premium product)

I (AT ofely It (12T w2 w3 gant Tow?
(Where should product or service design start?)
A. TSR o™ RtF (from the marketing

department)

B. TEoe “fag«t (/TF (from marketing planning)

C. 2K (50 59 @@ (from the product developmentt team)

D. &9 (4TF (from the customers)

E. #1733 Sf$d1N (UAF (from the research firms)

fRr e I’ 2 ¢ TEETSIR U ImR oA
IR [IAT I AN I T/ (What  are

businesses-or products with low market growth
rates and-high relative market shares called?)

A. 3013 (Stars) B. ¥4 318 (Cash Cows)
C. @1t5a T (Question Marks) D. ®15 (Dogs)
E. F51 fIta5H (Cash Rebates)

HTNT RIF 5L (IR W 91 Rrn 43" Tt
d1tF? (At what stage in the product lifecycle

does the sales growth start to slowdown?)
A. 219 BT84 (product development)

B. 354 (introduction) C. &3f& (growth)

D. #<fet (maturity) E. #/%R (decline)
fAom el e R Boimm 7%? (Which
one of the following is not the element of marketing
mix?)

A. ¥ (place) B. T9¥ (people) C. 77 (product)
D. &R (promotion) E. ¥ (price)

Answer Keps: 1.A2D3.E4C5B 6D 7.A8E9B
10.A 11.A 12.C 13.B 14B 15D 16B 17.D 18B
19.D 20.B

D. & =19 3577 (markup pricing) -
E. csfa1e 371 (decimal pricing)
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